EE 221 EXAM #2 - 3 October 2005
I. PART1
Short Answer / Fill in the Blank

1. (8 pts) Three resistors are in parallel and powered by a voltage source; their values are 22 kQ, 5.2 kQ, and 12 MQ.

a. Which resistor carries the most current? S i 2 /l ﬂ

b. What is the equivalent resistance of the parallel combination of these 3 resistors? __ L{ 20 ‘éﬂ

c. Ifthe voltage source is 58 volts, how much current flows through the 22 kQ resistor? [3. 37 'VlA
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d. Ifthe voltage source is 95 volts, what is the voltage across the 12MQ resistor? [i g l/

2. (8 pts) A series-parallel circuit is shown below. Find the total equivalent resistance, Rr.
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